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JUMPS L1
Maximum of six jump elements.
Must include at least one Axel type jump (waltz or 2.
Axel) and one double jump.
Max three combinations or sequences. Jump 3.
combinations may contain no more than two jumps.
No jump included more than twice and if a jump is 4.
repeated it must be in combination or sequence.

5.

6.
SPINS L1
Maximum of three spins.
One combination spin, change of foot mandatory (min 2.
three revs/foot and min two revs/position) 3
One flying spin (min three revs in basic position) )
One spin of any nature (min four revs total)
STEP/ SPIRAL /CHOREO SEQUENCE
Mandatory Pass Element: The program must include at least one double jump evaluated at Satisfactory or bettert 1 YES 1 NO
Passing Requirement: 8/10 criteria must be Satisfactory or better including (6/8 if program contains 5 jumps, 2 spins): /10(If 6
*5 jump criteria (4 jump criteria if 5 jumps in program) jumps, 3 spins) OYES [NO
*2 spin criteria (combination spin must be satisfactory or better if only 2 spins in program) /8 (if5

jumps, 2 spins)
Program Component Criteria E G 5 M COMMENTS
2.25+ 2.00+ 1.50+ <1.50

*Skating Skills
Transitions
*Performance/ Execution
Choreography
Interpretation
Passing Requirement: 3/5 criteria must be Satisfactory or better including: /5 O YES 0 NO

*Skating Skills and *Performance/ Execution

FINAL TEST RESULT: 11/15 criteria must be Satisfactory or better and all three passing requirements must be
successfully attained to pass the test if 6 jumps and 3 spins are in the program

FINAL TEST RESULT: 9/13 criteria must be Satisfactory or better and all three passing requirements must be
successfully attained to pass the test if 5 jumps and 2 spins are in the program

/15 (6 jumps, 3
spins)

/13 (5 jumps, 2
spins)

COPASS OORETRY

" Note — a double jump executed (with no more than ¥ rotation lacking) as the first jump in a combination or sequence with errors on the second
jump will count as meeting the requirement of the double jump evaluated at satisfactory or better regardless of the evaluation of the element

DRAFT (July 2015) EVALUATOR IS EXPECTED TO MAKE COMMENTS




